
MATHS

BOOKS - BETOPPERS

NUMBER SYSTEM - I

Formative Worksheet

1. Which number is greater: 1268 or 1286?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D21C2P4FnFn7
https://dl.doubtnut.com/l/_AyOpbjk1mysS


2. Find the greater number: 

4387, 903

Watch Video Solution

3. Find the greater number: 

42183, 7319

Watch Video Solution

4. Find the greater number: 

80375, 154562

https://dl.doubtnut.com/l/_AyOpbjk1mysS
https://dl.doubtnut.com/l/_HBry2lmekhM5
https://dl.doubtnut.com/l/_QX2LhGyUcYMo


Watch Video Solution

5. Find the greater number: 

5483, 6109

Watch Video Solution

6. Find the greater number: 

51037, 48876

Watch Video Solution

https://dl.doubtnut.com/l/_QX2LhGyUcYMo
https://dl.doubtnut.com/l/_lRxsguBtUmb4
https://dl.doubtnut.com/l/_bIu4JobusHxu


7. Find the greater number: 

293179, 380113

Watch Video Solution

8. Find the smallest number: 

7379, 7501

Watch Video Solution

9. Find the smallest number: 

37910, 37198

https://dl.doubtnut.com/l/_FcaXQLEtzJXb
https://dl.doubtnut.com/l/_2MM8UHga0lBd
https://dl.doubtnut.com/l/_XPPBvtW8bAw5


Watch Video Solution

10. Find the smallest number: 

417393, 417501

Watch Video Solution

11. Find the smallest number: 

747631, 747609

Watch Video Solution

https://dl.doubtnut.com/l/_XPPBvtW8bAw5
https://dl.doubtnut.com/l/_wWNoXvpfYLui
https://dl.doubtnut.com/l/_Q7udOFXNKsvA


12. Arrange the following numbers in ascending

order: 

6895, 23787, 413752

Watch Video Solution

13. Arrange the following numbers in ascending

order: 

11705, 217156, 93172, 287191

Watch Video Solution

https://dl.doubtnut.com/l/_slZFd9Llh9DC
https://dl.doubtnut.com/l/_pFK40ynsXcqa


14. The smallest 4-digit number having three

different digits is

Watch Video Solution

15. What will be the greatest and the smallest five-

digit number that can be formed using the digits

5, 7, 0, 2, and 9 without repetition?

Watch Video Solution

https://dl.doubtnut.com/l/_ICvEt8OuFeyi
https://dl.doubtnut.com/l/_uL34U97D0e4O


16. Write the greatest and the smallest four-digit

number.

Watch Video Solution

17. Form the greatest and the smallest four-digit

number using the digits 9, 3, 8, and 1 without

repetition, such that 1 is at the third place of the

number.

Watch Video Solution

https://dl.doubtnut.com/l/_zvNIV7JE2Qqz
https://dl.doubtnut.com/l/_qB6Wmj8dPZgc


18. Arrange the following numbers in descending

order : 

39124, 376319, 92187, 374534

Watch Video Solution

19. Write the following numbers in words and

answer the questions given below. 

432079, 5601729 and 1794805 

Which is the smallest number?

Watch Video Solution

https://dl.doubtnut.com/l/_RGEv1cGMpwP0
https://dl.doubtnut.com/l/_cNmtx4LsPQSN
https://dl.doubtnut.com/l/_LK3r8M5cHCvd


20. Write the following numbers in words and

answer the questions given below. 

432079, 5601729 and 1794805 

Which is the largest number?

Watch Video Solution

21. Write four different numbers using the digits

1, 2, 5, 0, each with seven digits.

Watch Video Solution

https://dl.doubtnut.com/l/_LK3r8M5cHCvd
https://dl.doubtnut.com/l/_T1MOXXooLkUp


22. The difference of the place values of two 4's in

4324 ?

Watch Video Solution

23. The difference between the face values of two

4's in 24348 is ?

Watch Video Solution

24. In the number 38417, identify 

the place value of 8,

https://dl.doubtnut.com/l/_t2DWes0akHPI
https://dl.doubtnut.com/l/_yMinfyL2P7pu
https://dl.doubtnut.com/l/_t4jt3FnZaRde


Watch Video Solution

25. In the number 38417, identify 

the value of the digit 3.

Watch Video Solution

26. Find the difference between 18230 and 9108.

Watch Video Solution

https://dl.doubtnut.com/l/_t4jt3FnZaRde
https://dl.doubtnut.com/l/_nzo5jdifxist
https://dl.doubtnut.com/l/_Akb1hB3tNhTL


27. Find the product of 66 and 25 and subtract

this from the smallest 5-digit number.

Watch Video Solution

28. Calculate 218  57.

Watch Video Solution

×

29. Calculate .

Watch Video Solution

400 ÷ 16

https://dl.doubtnut.com/l/_jkNchc6mk2fM
https://dl.doubtnut.com/l/_L9SYrqopVzNQ
https://dl.doubtnut.com/l/_pd8PqxE2XZkY


30. Divide 24 balloons among 6 children.

Watch Video Solution

31. In a school of 3520 students, 1928 are boys.

How many students in the school are girls?

Watch Video Solution

32. A test paper has 40 questions. Each question

that is answered correctly is given 2 marks. Azar

https://dl.doubtnut.com/l/_xdTuHemzqfIC
https://dl.doubtnut.com/l/_HFWOtB10V5Vc
https://dl.doubtnut.com/l/_Z51bOeHkM63i


answered 37 questions correctly. How many marks

did Azar score in the test?

Watch Video Solution

33. Estimate 19378 to the nearest.

Watch Video Solution

34. Estimate 165124 to the nearest.

Watch Video Solution

https://dl.doubtnut.com/l/_Z51bOeHkM63i
https://dl.doubtnut.com/l/_9EPsB7bfdMEB
https://dl.doubtnut.com/l/_CWQroApAZncY
https://dl.doubtnut.com/l/_kPB3DCP0eI6J


35. Estimate the sum of. 

1463 + 1989

Watch Video Solution

36. Estimate the sum of. 

4176 + 947

Watch Video Solution

37. Estimate the sum of. 

730 + 9918

W t h Vid S l ti

https://dl.doubtnut.com/l/_kPB3DCP0eI6J
https://dl.doubtnut.com/l/_zf5Q1LDdH7Tl
https://dl.doubtnut.com/l/_IZ2UqHHMT5NN


Watch Video Solution

38. Estimate the difference. 

7961 - 341

Watch Video Solution

39. Estimate the difference. 

8417 - 2499

Watch Video Solution

https://dl.doubtnut.com/l/_IZ2UqHHMT5NN
https://dl.doubtnut.com/l/_AL1v31CWtde7
https://dl.doubtnut.com/l/_IDRKIux090FZ


40. Estimate the sum of. 

5060 + 4068

Watch Video Solution

41. Estimate the sum of. 

10863 + 4759 + 3175

Watch Video Solution

42. Estimate the sum of . 

48931 + 4834 + 1313

https://dl.doubtnut.com/l/_Bwwb8OkgrxWI
https://dl.doubtnut.com/l/_4r1lTHJhcbBO
https://dl.doubtnut.com/l/_yzqyw5Fxt3s8


Watch Video Solution

43. Estimate: 6527 - 431.

Watch Video Solution

44. There are 12352 workers in an industry. If 6753

workers are male, what is the estimated number

of females working in the industry?

Watch Video Solution

https://dl.doubtnut.com/l/_yzqyw5Fxt3s8
https://dl.doubtnut.com/l/_Em7Kc0PJqDO6
https://dl.doubtnut.com/l/_YsmeWp4ECdL8


45. Estimate: 

Watch Video Solution

87 × 313

46. Write Hindu-Arabic numerals for each of the

following: 

XCVIII

Watch Video Solution

https://dl.doubtnut.com/l/_zhund94cpdTF
https://dl.doubtnut.com/l/_dmY4mBDdzh2K


47. Write Roman numeral for each of the

following: 

58

Watch Video Solution

48. Write Roman numeral for each of the

following: 

42

Watch Video Solution

https://dl.doubtnut.com/l/_kOHWUG9JtYsW
https://dl.doubtnut.com/l/_9vsQmOJP9QbY


49. Write Roman numeral for each of the

following: 

97

Watch Video Solution

50. Write Roman numeral for each of the

following: 

66

Watch Video Solution

https://dl.doubtnut.com/l/_KPQzV3KeyplD
https://dl.doubtnut.com/l/_4LrHNBCmYFDu


51.  in decimal system is ?

Watch Video Solution

110011 ( 2 )

52. 56 in binary system is ?

Watch Video Solution

53. Which of the following are meaningless? 

IXX

Watch Video Solution

https://dl.doubtnut.com/l/_X1Ao2sKeQLh6
https://dl.doubtnut.com/l/_m0jo0ZEe6NmG
https://dl.doubtnut.com/l/_7ZDA36K9obcK


54. Which of the following are meaningless? 

IVC

Watch Video Solution

55. Which of the following are meaningless? 

IC

Watch Video Solution

56. Which of the following are meaningless? 

LIL

https://dl.doubtnut.com/l/_2Eaxa0K5MU8z
https://dl.doubtnut.com/l/_fmtXGltbn70S
https://dl.doubtnut.com/l/_5J2sdJT3y7Uj


Watch Video Solution

57. Which of the following are meaningless? 

XCI

Watch Video Solution

58. Which of the following are meaningless? 

LIV

Watch Video Solution

https://dl.doubtnut.com/l/_5J2sdJT3y7Uj
https://dl.doubtnut.com/l/_eMcZrkqLsrSt
https://dl.doubtnut.com/l/_aKxK3BM1uhhO


59. Which of the following are meaningless? 

XLIV

Watch Video Solution

60. Which of the following are meaningless? 

VVII

Watch Video Solution

61. Write all Roman numerals lying between 

LXX and LXXV

https://dl.doubtnut.com/l/_8A8em2YBv4mJ
https://dl.doubtnut.com/l/_Tm8iWf3PMCKd
https://dl.doubtnut.com/l/_GZ0p31wJqkx8


Watch Video Solution

62. Write all Roman numerals lying between 

XC and XCV

Watch Video Solution

63. Write the following Roman numerals is

descending order: 

LXIII, XL, VII, XCVIII, XCI

Watch Video Solution

https://dl.doubtnut.com/l/_GZ0p31wJqkx8
https://dl.doubtnut.com/l/_ewZjtRQKzERd
https://dl.doubtnut.com/l/_0NqaRkw8MFC2
https://dl.doubtnut.com/l/_PtHzMj9NTj2P


64. Indicate the property for each of the

following: 

Watch Video Solution

93 × 1 = 93

65. Indicate the property for each of the

following: 

Watch Video Solution

47 + (9 + 11) = (47 + 9) + 11

https://dl.doubtnut.com/l/_PtHzMj9NTj2P
https://dl.doubtnut.com/l/_oDVRjNyA0mEJ


66. Indicate the property for each of the

following: 

Watch Video Solution

12 × (7 × 10) = (12 × 7) × 10

67. Find the sum, using the associative property of

addition of whole numbers. 

73 + 47 + 53

Watch Video Solution

https://dl.doubtnut.com/l/_uhjO4Ub9Zvxv
https://dl.doubtnut.com/l/_1dtYcgdpQIX2


68. Find the sum, using the associative property

of addition of whole numbers. 

351 + 98 + 102

Watch Video Solution

69. Find the sum, using the associative property

of addition of whole numbers. 

63 + 137 + 56

Watch Video Solution

https://dl.doubtnut.com/l/_MMqhbceDov0v
https://dl.doubtnut.com/l/_LTBJbEbIkFbc


70. Find the sum, using the associative property

of addition of whole numbers. 

723 + 56 + 44

Watch Video Solution

71. Find the sum, using the associative property of

addition of whole numbers. 

87 + 113 + 257

Watch Video Solution

https://dl.doubtnut.com/l/_3crZiiucy3uV
https://dl.doubtnut.com/l/_Kh9FTwZutrnq


72. Find the sum, using the associative property

of addition of whole numbers. 

45 + 118 + 82

Watch Video Solution

73. Find the product, using the associative

property of multiplication: 

Watch Video Solution

4 × 25 × 36

https://dl.doubtnut.com/l/_tZ8DWHcI7Xxz
https://dl.doubtnut.com/l/_NHk2BqrN7JRi


74. Find the product, using the associative

property of multiplication: 

Watch Video Solution

8 × 25 × 93

75. Find the product, using the associative

property of multiplication: 

Watch Video Solution

975 × 5 × 40

https://dl.doubtnut.com/l/_4D5b8BVJqXGe
https://dl.doubtnut.com/l/_cnwXHWbwA9ee


76. Find the product, using the associative

property of multiplication: 

Watch Video Solution

8 × 125 × 17

77. Meera cycles for 12 days, riding 8 km each day.

Her friend Sunita cycles for 8 days, riding 12 km

each day. Who cycles a longer distance?

Watch Video Solution

https://dl.doubtnut.com/l/_1SRCGHF1rsO2
https://dl.doubtnut.com/l/_XzQoLnLzCszp


78. Rajdhani Express moves at a uniform speed of

97 km/hr. Find the distance it will cover in 43

hours.

Watch Video Solution

79. The annual fee charged from a student in a

public school is Rs. 9,960. If there are 135 students

in Class VI, find the total collection.

Watch Video Solution

https://dl.doubtnut.com/l/_fiuWnUdWOARG
https://dl.doubtnut.com/l/_J6K6cFatCtHr


80. At the time of Deepawali, a shopkeeper

purchased 998 boxes of dry fruits each costing Rs.

157. How much money did he pay?

Watch Video Solution

81. Write opposite of the following: 

Increase in weight

Watch Video Solution

https://dl.doubtnut.com/l/_KkdOn5hnaLEV
https://dl.doubtnut.com/l/_Hhe4lNQuoku5


82. Write opposite of the following: 

30 km north

Watch Video Solution

83. Write opposite of the following: 

326 B.C.

Watch Video Solution

84. Write opposite of the following: 

Loss of Rs. 700

https://dl.doubtnut.com/l/_a1owTsijxLYI
https://dl.doubtnut.com/l/_FS5I6HlPicld
https://dl.doubtnut.com/l/_4IXKyOIkYrD2


Watch Video Solution

85. Write opposite of the following: 

100 m above sea level.

Watch Video Solution

86. Represent the following numbers as integers

will apporpriate signs. 

An aeroplanne is flying at a height two thousand

metre above the ground.

Watch Video Solution

https://dl.doubtnut.com/l/_4IXKyOIkYrD2
https://dl.doubtnut.com/l/_zhlXRR8hY7wI
https://dl.doubtnut.com/l/_zFVf1wpGa5gh


87. Represent the following numbers as integers

will apporpriate signs. 

A submarine is moving at a depth, eight hundred

metre below the sea level.

Watch Video Solution

88. Represent the following numbers as integers

will apporpriate signs. 

A deposit of rupees two hundred.

Watch Video Solution

https://dl.doubtnut.com/l/_zFVf1wpGa5gh
https://dl.doubtnut.com/l/_JEuoYDiWTQfd
https://dl.doubtnut.com/l/_XaFoLPaLPzry


89. Represent the following numbers as integers

will apporpriate signs. 

Withdrawal of rupees seven hundred.

Watch Video Solution

90. Represent the following numbers on a

number line : 

+ 5

Watch Video Solution

https://dl.doubtnut.com/l/_XaFoLPaLPzry
https://dl.doubtnut.com/l/_qQEazIpxpupj
https://dl.doubtnut.com/l/_3HbGOrCktWQF
https://dl.doubtnut.com/l/_rtfhSy1jFWQd


91. Represent the following numbers on a number

line : 

- 1

Watch Video Solution

92. Represent the following numbers on a number

line : 

- 6

Watch Video Solution

https://dl.doubtnut.com/l/_rtfhSy1jFWQd
https://dl.doubtnut.com/l/_VHHYwVEeZv4y


93. In each of the following pairs, which number is

to the right of the other on the number line? 

2, 9

Watch Video Solution

94. In each of the following pairs, which number is

to the right of the other on the number line? 

-3, -8

Watch Video Solution

https://dl.doubtnut.com/l/_qmWnacKmk2cZ
https://dl.doubtnut.com/l/_kuPGT4Q9ICKF


95. In each of the following pairs, which number is

to the right of the other on the number line? 

0, -1

Watch Video Solution

96. In each of the following pairs, which number is

to the right of the other on the number line? 

-11, 10

Watch Video Solution

https://dl.doubtnut.com/l/_rkmJ3ka8ppGe
https://dl.doubtnut.com/l/_OTV1KzEeoB1e


97. In each of the following pairs, which number is

to the right of the other on the number line? 

-6, 6

Watch Video Solution

98. In each of the following pairs, which number is

to the right of the other on the number line? 

1, -100

Watch Video Solution

https://dl.doubtnut.com/l/_yXex77e3E0vJ
https://dl.doubtnut.com/l/_NgqOrb3nJWUx


99. Write all the integers between the given pairs

(write them in the increasing order.) 

0 and -7

Watch Video Solution

100. Write all the integers between the given

pairs (write them in the increasing order.) 

-4 and 4

Watch Video Solution

https://dl.doubtnut.com/l/_fBzUZPkul7uG
https://dl.doubtnut.com/l/_6Tst4Iud0KT1


101. Write all the integers between the given pairs

(write them in the increasing order.) 

-8 and -15

Watch Video Solution

102. Write all the integers between the given pairs

(write them in the increasing order.) 

-30 and -23

Watch Video Solution

https://dl.doubtnut.com/l/_JNc4TAXEXfW9
https://dl.doubtnut.com/l/_szsH5m5NUhRw


103. Write four negative integers greater than -20.

Watch Video Solution

104. Write four negative integers less than -10.

Watch Video Solution

105. For the following statements write True (T) or

False (F). If the statement is false, correct the

statement. 

-8 is to the right of -10 on a number line.

https://dl.doubtnut.com/l/_70Cd7xJZSsEB
https://dl.doubtnut.com/l/_pPNR5hU0D0qb
https://dl.doubtnut.com/l/_xKdttzctV5Al


Watch Video Solution

106. For the following statements write True (T) or

False (F). If the statement is false, correct the

statement. 

-100 is to the right of -50 on a number line.

Watch Video Solution

107. For the following statements write True (T) or

False (F). If the statement is false, correct the

https://dl.doubtnut.com/l/_xKdttzctV5Al
https://dl.doubtnut.com/l/_bDR8ktqY5yGv
https://dl.doubtnut.com/l/_Kj8r1Pg60KO4


statement. 

Smallest negative integer is -1.

Watch Video Solution

108. For the following statements write True (T) or

False (F). If the statement is false, correct the

statement. 

-26 is larger than -25.

Watch Video Solution

https://dl.doubtnut.com/l/_Kj8r1Pg60KO4
https://dl.doubtnut.com/l/_z1d7k5QnmFUL


109. Draw a number line and answer the

following: 

Which number will we reach if we move 4

numbers to the right of -2.

Watch Video Solution

110. Draw a number line and answer the following:

Which number will we reach if we move 5

numbers to the left of 1.

Watch Video Solution

https://dl.doubtnut.com/l/_N15sItaWBtfW
https://dl.doubtnut.com/l/_zqAgXioxP5NH
https://dl.doubtnut.com/l/_Pk51XilUCIR3


111. Draw a number line and answer the following: 

If we are at -8 on the number line, in which

direction should we move to reach -13 ?

Watch Video Solution

112. Draw a number line and answer the following:

If we are at -6 on the number line, in which

direction should we move to reach -1 ?

Watch Video Solution

https://dl.doubtnut.com/l/_Pk51XilUCIR3
https://dl.doubtnut.com/l/_5l7sI4M2uRMO


113. Solve the following. 

4 + (+5)

Watch Video Solution

114. Solve the following. 

3 + (-4)

Watch Video Solution

115. Evaluate -5 + (-3).

Watch Video Solution

https://dl.doubtnut.com/l/_hxhcWGAVqYot
https://dl.doubtnut.com/l/_ucHQHxQdnARu
https://dl.doubtnut.com/l/_5zUrCJkKkofl


116. Simplify -3 + 7 + (-8).

Watch Video Solution

117. The temperature of a town is -14  at night.

During the day, the temperature increases by 7

. What is the temperature of the town during

the day?

Watch Video Solution

∘ C

∘ C

https://dl.doubtnut.com/l/_5zUrCJkKkofl
https://dl.doubtnut.com/l/_WvYdFi4excBw
https://dl.doubtnut.com/l/_xXMAiWIFrhm9


118. Add without using number line : 

11 + (-7)

Watch Video Solution

119. Add without using number line : 

(-13) + (+18)

Watch Video Solution

120. Add without using number line : 

(-10) + (+19)

https://dl.doubtnut.com/l/_rgFWfHJLYK2u
https://dl.doubtnut.com/l/_g2wOn5pSvQIZ
https://dl.doubtnut.com/l/_8SuQZc5j2Nxi


Watch Video Solution

121. Add without using number line : 

(-250) + (+150)

Watch Video Solution

122. Add without using number line : 

(-380) + (-270)

Watch Video Solution

https://dl.doubtnut.com/l/_8SuQZc5j2Nxi
https://dl.doubtnut.com/l/_pLnmVwXHH7x6
https://dl.doubtnut.com/l/_WiI3qloNtavb


123. Add without using number line : 

(-217) + (-100)

Watch Video Solution

124. Find the sum of: 

137 and -354

Watch Video Solution

125. Find the sum of: 

-52 and 52

https://dl.doubtnut.com/l/_Qi31NdM0aeAH
https://dl.doubtnut.com/l/_GepxW0oTgoQt
https://dl.doubtnut.com/l/_UomaFWEG4Jew


Watch Video Solution

126. Find the sum of: 

-312, 39 and 192

Watch Video Solution

127. Find the sum of: 

-50, -200 and 300.

Watch Video Solution

https://dl.doubtnut.com/l/_UomaFWEG4Jew
https://dl.doubtnut.com/l/_5n9e0MyDVaFo
https://dl.doubtnut.com/l/_DkGSWqzemFmU


128. Solve the following 

7 - (+6)

Watch Video Solution

129. Solve the following 

- 8 - (-3)

Watch Video Solution

130. Simplify .

Watch Video Solution

−8 − ( + 3) − ( − 5)

https://dl.doubtnut.com/l/_skDsDsqI88g5
https://dl.doubtnut.com/l/_UL6ORUGK62dl
https://dl.doubtnut.com/l/_TLQOBGi7TcXk


131. A diver was diving 100 m below sea level. He

went down 20 m and came up 35 m again. How far

below sea level did he dive?

Watch Video Solution

132. Subtract : 

35 - (20)

Watch Video Solution

https://dl.doubtnut.com/l/_TLQOBGi7TcXk
https://dl.doubtnut.com/l/_TIflUcy2IYpv
https://dl.doubtnut.com/l/_ZYR7CtfHhEP1


133. Subtract : 

72 - (90)

Watch Video Solution

134. Subtract : 

(-15) - (-18)

Watch Video Solution

135. Subtract : 

(-20) - (13)

https://dl.doubtnut.com/l/_Ejpx1oTrup3V
https://dl.doubtnut.com/l/_s4XvkOrq3sG0
https://dl.doubtnut.com/l/_ap2w1w3sCBvE


Watch Video Solution

136. Subtract : 

23 - (-12)

Watch Video Solution

137. Subtract : 

(-32) - (-40)

Watch Video Solution

https://dl.doubtnut.com/l/_ap2w1w3sCBvE
https://dl.doubtnut.com/l/_e8dYo8anmYdG
https://dl.doubtnut.com/l/_NoUhLnG6bUwS


138. Fill in the blanks with  or = sign : 


 ________ 

Watch Video Solution

> , <

( − 3) + ( − 6) ( − 3) − ( − 6)

139. Fill in the blanks with  or = sign : 


 ________ 

Watch Video Solution

> , <

( − 21) − ( − 10) ( − 31) + ( − 11)

140. Fill in the blanks with  or = sign : 


 _______ .

> , <

(45) − ( − 11) 57 + ( − 4)

https://dl.doubtnut.com/l/_SraWbqojERrZ
https://dl.doubtnut.com/l/_ogHskmyb0goT
https://dl.doubtnut.com/l/_nY7V3RUFNdJ9


Watch Video Solution

141. Fill in the blanks with  or = sign : 


 ________ .

Watch Video Solution

> , <

( − 25) − ( − 42) ( − 42) − ( − 25)

142. Fill in the blanks: 

(-8) + ________ = 0

Watch Video Solution

https://dl.doubtnut.com/l/_nY7V3RUFNdJ9
https://dl.doubtnut.com/l/_ypjd6eqUAj1d
https://dl.doubtnut.com/l/_ILE5IT3G3boS


143. Fill in the blanks: 

13 + __________ = 0

Watch Video Solution

144. Fill in the blanks: 

12 + (-12) = __________

Watch Video Solution

145. Fill in the blanks: 

(-4) + _________ = -12

https://dl.doubtnut.com/l/_ziXZL7QW6yrO
https://dl.doubtnut.com/l/_e1HB91lr2t6N
https://dl.doubtnut.com/l/_yUJFkcAwIxrD


Watch Video Solution

146. Fill in the blanks: 

___________ - 15 = -10

Watch Video Solution

147. Find the value of : 

Watch Video Solution

( − 7) − 8 − ( − 25)

https://dl.doubtnut.com/l/_yUJFkcAwIxrD
https://dl.doubtnut.com/l/_7i9Od4MB6qPW
https://dl.doubtnut.com/l/_IeR6KDC9IjJ4


148. Find the value of : 

Watch Video Solution

( − 13) + 32 − 8 − 1

149. Find the value of : 

Watch Video Solution

( − 7) + ( − 8) + ( − 90)

150. Find the value of : 

50 − ( − 40) − ( − 2)

https://dl.doubtnut.com/l/_dD67HZzSEr3D
https://dl.doubtnut.com/l/_hiBXgYXmgGp6
https://dl.doubtnut.com/l/_SzQ2qrOYlHh2


Conceptive Worksheet

Watch Video Solution

1. Write the greatest 6-digit number. Also write its

successor.

Watch Video Solution

2. Write the smallest 7-digit number. Also write its

predecessor.

Watch Video Solution

https://dl.doubtnut.com/l/_SzQ2qrOYlHh2
https://dl.doubtnut.com/l/_EAxK5bRgQ7Z3
https://dl.doubtnut.com/l/_FZUA87vGyRSW


3. Write the greatest number: 

3255, 53215, 97501

Watch Video Solution

4. Write the greatest number: 

98135, 732156, 59321

Watch Video Solution

https://dl.doubtnut.com/l/_FZUA87vGyRSW
https://dl.doubtnut.com/l/_9kAr7RyRlBNa
https://dl.doubtnut.com/l/_FW27R3sVzvsV


5. Write the greatest number: 

56100, 100000, 88253

Watch Video Solution

6. Write the greatest number: 

36345, 63354, 36354

Watch Video Solution

7. Write the smallest number: 

9212, 3921, 4456, 87123

https://dl.doubtnut.com/l/_z3qI7dWEJDlD
https://dl.doubtnut.com/l/_MVvVRNbuZGc8
https://dl.doubtnut.com/l/_TsReoJvrMd4H


Watch Video Solution

8. Write the smallest number: 

18341, 110001, 2333, 75284

Watch Video Solution

9. Write the smallest number: 

19024, 19240, 90421, 10249

Watch Video Solution

https://dl.doubtnut.com/l/_TsReoJvrMd4H
https://dl.doubtnut.com/l/_EwODbdRCkHb7
https://dl.doubtnut.com/l/_7466rnGdqzCW


10. Arrange the following numbers in ascending

order: 

4536, 4425, 4370, 4928

Watch Video Solution

11. Arrange the following numbers in ascending

order: 

25068, 25245, 25270, 25510

Watch Video Solution

https://dl.doubtnut.com/l/_wECzYcWGSgB3
https://dl.doubtnut.com/l/_n7uMX9gHFCkc


12. Arrange the following numbers in ascending

order: 

68952, 69825, 52896, 28956

Watch Video Solution

13. Arrange the following numbers in descending

order: 

7508, 78501, 10378, 8570

Watch Video Solution

https://dl.doubtnut.com/l/_NNcvElMEWmVN
https://dl.doubtnut.com/l/_DFBzUqLNdppk


14. Arrange the following numbers in descending

order: 

23450, 45032, 30254, 52430

Watch Video Solution

15. Use the given digits (without repetition) and

make the greatest and the smallest 4-digit

numbers: 

1, 3, 7, 5

Watch Video Solution

https://dl.doubtnut.com/l/_xa1mYsD347nM
https://dl.doubtnut.com/l/_gE0QHPx4svBM
https://dl.doubtnut.com/l/_kxkev2CHk7FI


16. Use the given digits (without repetition) and

make the greatest and the smallest 4-digit

numbers: 

2, 7, 9, 3

Watch Video Solution

17. Use the given digits (without repetition) and

make the greatest and the smallest 4-digit

numbers: 

5, 6, 1, 0

Watch Video Solution

https://dl.doubtnut.com/l/_kxkev2CHk7FI
https://dl.doubtnut.com/l/_sAhpgN8GrXIO


18. Use the given digits (without repetition) and

make the greatest and the smallest 4-digit

numbers: 

5, 4, 0, 7

Watch Video Solution

19. Write the greatest and the smallest 5-digit

numbers, using the digits (digits may repeat): 

2 and 6

Watch Video Solution

https://dl.doubtnut.com/l/_sAhpgN8GrXIO
https://dl.doubtnut.com/l/_IPPGzqmzbBaA
https://dl.doubtnut.com/l/_23AoS3folzrr


20. Write the greatest and the smallest 5-digit

numbers, using the digits (digits may repeat): 

1, 3 and 7

Watch Video Solution

21. Write the greatest and the smallest 5-digit

numbers, using the digits (digits may repeat): 

2, 6, 4 and 8

Watch Video Solution

https://dl.doubtnut.com/l/_WRVvq7M3D8N5
https://dl.doubtnut.com/l/_u7px2gAhagAB


22. Write the greatest and the smallest 5-digit

numbers, using the digits (digits may repeat): 

3, 0, 5 and 7

Watch Video Solution

23. Write the smallest 7-digit number, using any

five different digits.

Watch Video Solution

https://dl.doubtnut.com/l/_AaXMOVQWhf8j
https://dl.doubtnut.com/l/_XDoE8WdkBtuY


24. Write the greatest 6-digit number, using any

four different digits.

Watch Video Solution

25. What is the place value of 3 in each of the

following numbers? 

375

Watch Video Solution

https://dl.doubtnut.com/l/_FRte0EaqZ8PR
https://dl.doubtnut.com/l/_jZoUTyOwvMKq


26. What is the place value of 3 in each of the

following number? 

2735

Watch Video Solution

27. What is the place value of 3 in each of the

following number? 

72953

Watch Video Solution

https://dl.doubtnut.com/l/_361rsuotv0jf
https://dl.doubtnut.com/l/_f6T7Lx2Bea9g


28. What is the place value of 3 in each of the

following number? 

13707

Watch Video Solution

29. What is the place value of 3 in each of the

following numbers? 

370179

Watch Video Solution

https://dl.doubtnut.com/l/_HaEEpIggv0Ed
https://dl.doubtnut.com/l/_AaBOPhZVHiDG


30. Write the expanded form of each of the

following numbers: 

2103

Watch Video Solution

31. Write the expanded form of each of the

following numbers: 

75132

Watch Video Solution

https://dl.doubtnut.com/l/_Blj3chqjTw8E
https://dl.doubtnut.com/l/_8Msd6TRISkri


32. Write the expanded form of each of the

following numbers: 

107912

Watch Video Solution

33. Write the expanded form of each of the

following numbers: 

317956

Watch Video Solution

https://dl.doubtnut.com/l/_YBwRbnxsF1Wu
https://dl.doubtnut.com/l/_wGLvvYm3MY2s


34. Insert commas to separate the periods in the

Indian System of Numeration. Write and read

each number: 

47529311

Watch Video Solution

35. Insert commas to separate the periods in the

Indian System of Numeration. Write and read

each number: 

94381052

Watch Video Solution

https://dl.doubtnut.com/l/_L7mP9Mm5G5tM
https://dl.doubtnut.com/l/_djUDWSL1l6O3


36. Insert commas to separate the periods in the

Indian System of Numeration. Write and read

each number: 

708356149

Watch Video Solution

37. Insert commas to separate the periods in the

Indian System of Numeration. Write and read

each number: 

5530088

W h Vid S l i

https://dl.doubtnut.com/l/_djUDWSL1l6O3
https://dl.doubtnut.com/l/_TWU7QDbkeZil
https://dl.doubtnut.com/l/_dPED7MT04dp9


Watch Video Solution

38. Insert commas to separate the periods in the

International System of Numeration. Write and

read each number. 

1974522

Watch Video Solution

39. Insert commas to separate the periods in the

International System of Numeration. Write and

read each number. 

30706210

https://dl.doubtnut.com/l/_dPED7MT04dp9
https://dl.doubtnut.com/l/_NnGCr8rBavbl
https://dl.doubtnut.com/l/_JYjhqaCSJ3Wt


Watch Video Solution

40. Insert commas to separate the periods in the

International System of Numeration. Write and

read each number. 

42358761

Watch Video Solution

41. Insert commas to separate the periods in the

International System of Numeration. Write and

https://dl.doubtnut.com/l/_JYjhqaCSJ3Wt
https://dl.doubtnut.com/l/_UzFNGnt7oThL
https://dl.doubtnut.com/l/_aNBD0PlVibaG


read each number. 

2795814

Watch Video Solution

42. Write the following numbers in words: 

6,00,87,971

Watch Video Solution

43. Write the following numbers in words: 

36,20,00,804

Watch Video Solution

https://dl.doubtnut.com/l/_aNBD0PlVibaG
https://dl.doubtnut.com/l/_jQiFJfPXkQlz
https://dl.doubtnut.com/l/_OWgp9jqtnZjI


Watch Video Solution

44. Write the following numbers in words: 

40,55,01,000

Watch Video Solution

45. Write the following numbers in words: 

2,95,25,666

Watch Video Solution

https://dl.doubtnut.com/l/_OWgp9jqtnZjI
https://dl.doubtnut.com/l/_whc6ZXKNLZ1T
https://dl.doubtnut.com/l/_xDVwPN3GX4r7


46. Write the following numbers in words: 

7,25,35,469

Watch Video Solution

47. Write the following numbers in words: 

83,17,29,614

Watch Video Solution

48. Write the following numbers in words: 

7,071,071

https://dl.doubtnut.com/l/_dpJXSEgFDrXX
https://dl.doubtnut.com/l/_2qgjXr7J8pki
https://dl.doubtnut.com/l/_AU4w72C9sDfr


Watch Video Solution

49. Write the following numbers in words: 

36,754,981

Watch Video Solution

50. Write the following numbers in words: 

23,064,594

Watch Video Solution

https://dl.doubtnut.com/l/_AU4w72C9sDfr
https://dl.doubtnut.com/l/_nWjAG1pFPMUz
https://dl.doubtnut.com/l/_x38w00tfwo1l


51. Write the following numbers in words: 

90,090,090

Watch Video Solution

52. Write the following numbers in words: 

254,789,610

Watch Video Solution

53. Write the following numbers in words: 

685,321,479

https://dl.doubtnut.com/l/_cFqnSpTkiBnV
https://dl.doubtnut.com/l/_Ea9jr8fwTuXe
https://dl.doubtnut.com/l/_vI46ZYdnfdmU


Watch Video Solution

54. Write each of the following numbers in

figures: 

Twenty crore, twenty-nine lac, seven hundred

seventeen.

Watch Video Solution

55. Write each of the following numbers in

figures: 

Eight crore, thirteen lac, forty thousand, twelve

https://dl.doubtnut.com/l/_vI46ZYdnfdmU
https://dl.doubtnut.com/l/_Yj2THbD3OazC
https://dl.doubtnut.com/l/_rDvp9zXZa7aD


Watch Video Solution

56. Write each of the following numbers in

figures: 

Nineteen crore, ninety lac, fourteen thousand, six

hundred eighty.

Watch Video Solution

57. Write each of the following numbers in

figures: 

Fifty crore, forty lac, sixty thousand, nine.

https://dl.doubtnut.com/l/_rDvp9zXZa7aD
https://dl.doubtnut.com/l/_lJywh2io8LTb
https://dl.doubtnut.com/l/_dCEifDYhfQob


Watch Video Solution

58. Write each of the following numbers in

figures: 

Seven crore, twenty three lac, eighty-six thousand,

five hundred ninety four.

Watch Video Solution

59. Write each of the following numbers in

figures: 

Six million, three hundred fifty-two thousand, nine

hundred forty-six.

https://dl.doubtnut.com/l/_dCEifDYhfQob
https://dl.doubtnut.com/l/_EfTQ8gi9IL6p
https://dl.doubtnut.com/l/_6UWBrAfSQlni


Watch Video Solution

60. Write each of the following numbers in

figures: 

Forty-nine million, seven hundred eighty-two

thousand, fifty-eight.

Watch Video Solution

61. Write each of the following numbers in figures:

Ninety million, nine

Watch Video Solution

https://dl.doubtnut.com/l/_6UWBrAfSQlni
https://dl.doubtnut.com/l/_HnCjmQNAiofk
https://dl.doubtnut.com/l/_LukOKBo13Qvp


62. Write each of the following numbers in

figures: 

Twenty million, three hundred eightly thousand,

one hundred.

Watch Video Solution

63. Write each of the following numbers in

figures: 

Eight-one million, four hundred twelve thousand,

six hundred fifty.

https://dl.doubtnut.com/l/_LukOKBo13Qvp
https://dl.doubtnut.com/l/_PYz4Y1bF8nAB
https://dl.doubtnut.com/l/_4IeiqyXQXGLm


Watch Video Solution

64. Subtract and verify the answers using the

addition fact: 

2458 - 322

Watch Video Solution

65. Subtract and verify the answers using the

addition fact: 

1000 - 0

Watch Video Solution

https://dl.doubtnut.com/l/_4IeiqyXQXGLm
https://dl.doubtnut.com/l/_FSh0795Tlv05
https://dl.doubtnut.com/l/_0CthMNpnoT6W


66. Subtract and verify the answers using the

addition fact: 

9999 - 9999

Watch Video Solution

67. Subtract and verify the answers using the

addition fact: 

78 - 34

Watch Video Solution

https://dl.doubtnut.com/l/_0CthMNpnoT6W
https://dl.doubtnut.com/l/_jjPcSIpDgXkm
https://dl.doubtnut.com/l/_DCFCO0kma4P5
https://dl.doubtnut.com/l/_WGPVARBKBiRf


68. Subtract and verify the answers using the

addition fact: 

6736 - 369

Watch Video Solution

69. Subtract and verify the answers using the

addition fact: 

2273 - 1410

Watch Video Solution

https://dl.doubtnut.com/l/_WGPVARBKBiRf
https://dl.doubtnut.com/l/_fZjeldkQcajh


70. Find: 

32 + 46 - 12

Watch Video Solution

71. Find: 

75 + 38 - 15

Watch Video Solution

72. Find: 

48 - 28 + 76 + 24

https://dl.doubtnut.com/l/_OCDZvHBGj0bg
https://dl.doubtnut.com/l/_kb5tOILWa740
https://dl.doubtnut.com/l/_jtHS6g1BT73P


Watch Video Solution

73. Find: 

46 + 91 - 46 - 91

Watch Video Solution

74. Find: 

754 - 54 + 154 - 254

Watch Video Solution

https://dl.doubtnut.com/l/_jtHS6g1BT73P
https://dl.doubtnut.com/l/_41l2KB44pCKu
https://dl.doubtnut.com/l/_q8LNLPq9UadB


75. Fill in the blanks: 

_______ = 100000

Watch Video Solution

10 × 10 ×

76. Fill in the blanks: 

Watch Video Solution

180 × 0 = _______ × 180

77. Fill in the blanks: 

_______0 × 0 =

https://dl.doubtnut.com/l/_91Ag97iJlLkY
https://dl.doubtnut.com/l/_np0n41zr7ITh
https://dl.doubtnut.com/l/_1jOZ4MxOB4UY


Watch Video Solution

78. Fill in the blanks: 

Watch Video Solution

42 × 16 = 40 × 16 + _______ × 16

79. Fill in the blanks: 

_______

Watch Video Solution

56789 × 1 =

https://dl.doubtnut.com/l/_1jOZ4MxOB4UY
https://dl.doubtnut.com/l/_PM8gsiqpJ0Se
https://dl.doubtnut.com/l/_UffhAoB1tMW1


80. Fill in the blanks: 

Watch Video Solution

7 × 3 + 7 × 2 = ________ × 5

81. Solve the following using shortcut method. 

Watch Video Solution

336 × 5

82. Solve the following using shortcut method. 

24 × 25

https://dl.doubtnut.com/l/_6ZLpGE4olIaN
https://dl.doubtnut.com/l/_KnWyGGvzNT7Y
https://dl.doubtnut.com/l/_g9L24iURhef6


Watch Video Solution

83. Solve the following using shortcut method. 

Watch Video Solution

78 × 5

84. Solve the following using shortcut method. 

Watch Video Solution

7 × 125

https://dl.doubtnut.com/l/_g9L24iURhef6
https://dl.doubtnut.com/l/_OJXu2HaOkgDr
https://dl.doubtnut.com/l/_o02soh0eaFi0


85. Solve the following using shortcut method. 

Watch Video Solution

65 ÷ 5

86. Solve the following using shortcut method. 

Watch Video Solution

575 ÷ 25

87. Solve the following using shortcut method. 

105 ÷ 5

https://dl.doubtnut.com/l/_IDrAcX6xZ5B2
https://dl.doubtnut.com/l/_1eYZn3EpC4yb
https://dl.doubtnut.com/l/_m8xw1lGbW9SX


Watch Video Solution

88. Solve the following using shortcut method. 

Watch Video Solution

325 ÷ 25

89. Fill in the blanks. 

Watch Video Solution

Divident Quotient Divisor Remainder

− 10 24 12

https://dl.doubtnut.com/l/_m8xw1lGbW9SX
https://dl.doubtnut.com/l/_cYhyShdBoexI
https://dl.doubtnut.com/l/_XUX9IxEw2FCY


90. Fill in the blanks. 

Watch Video Solution

Divident Quotient Divisor Remainder

345 12 − 9

91. Fill in the blanks. 

Watch Video Solution

Divident Quotient Divisor Remainder

1235 − 102 11

92. Fill in the blanks. 

Divident Quotient Divisor Remainder

− 36 36 20

https://dl.doubtnut.com/l/_S2y9PDwAeUGX
https://dl.doubtnut.com/l/_QxVLMYF73ORz
https://dl.doubtnut.com/l/_KQRkCe6oq0SA


Watch Video Solution

93. Fill in the blanks. 

Watch Video Solution

Divident Quotient Divisor Remainder

1648 12 137 −

94. A van can carry 12 pupils. How many vans

would be required to carry 108 pupils?

Watch Video Solution

https://dl.doubtnut.com/l/_KQRkCe6oq0SA
https://dl.doubtnut.com/l/_n9t5jFUYP2oR
https://dl.doubtnut.com/l/_5dxE9VCXaDlL


95. Nalini has 15 tennis balls. She gives 7 tennis

balls to her friend. Her father brings back another

5 tennis balls for her. How many tennis balls does

she have now?

Watch Video Solution

96. Madan bought 20 boxes of pens. Each box

contained 15 pens. The pens were equally

distributed among 25 students. How many pens

did each student receive?

Watch Video Solution

https://dl.doubtnut.com/l/_MwKbOj90mCyl
https://dl.doubtnut.com/l/_2q59jhdgmD9F


97. Calculate the annual salary of Raghu whose

monthly salary is Rs. 2,700

Watch Video Solution

98. How many children can get 6 balloons each, if

there are 36 balloons in all?

Watch Video Solution

https://dl.doubtnut.com/l/_2q59jhdgmD9F
https://dl.doubtnut.com/l/_MGlAAvXx6I7s
https://dl.doubtnut.com/l/_jqDuum0BFuPz


99. A gardener plants 5100 mango trees in 17 rows

such that each row has the same number of trees.

How many trees are there in each row?

Watch Video Solution

100. Round off 86152 to the nearet 

ten thousand

Watch Video Solution

https://dl.doubtnut.com/l/_3lcTRbGdSi93
https://dl.doubtnut.com/l/_FyPNUOT8lDQL


101. Round off 86152 to the nearet 

thousand

Watch Video Solution

102. Round off 86152 to the nearet 

hundred

Watch Video Solution

103. Round 248,982 to the nearest hundred.

Watch Video Solution

https://dl.doubtnut.com/l/_iNuiUGoOXviT
https://dl.doubtnut.com/l/_PlCuGiAE09H8
https://dl.doubtnut.com/l/_8oDMDX9AiAJF


104. Round each whole number to the given place.

632 to the nearest ten

Watch Video Solution

105. Round each whole number to the given place.

394 to the nearest ten

Watch Video Solution

https://dl.doubtnut.com/l/_8oDMDX9AiAJF
https://dl.doubtnut.com/l/_UoSCVufkkOec
https://dl.doubtnut.com/l/_EOjA4jzvwRD1


106. Round each whole number to the given place.

1096 to the nearest ten

Watch Video Solution

107. Estimate the sum by rounding each number

to the nearest ten. 

29 

35 

42 

Watch Video Solution

+16
–––––

https://dl.doubtnut.com/l/_o7z5H5T6WVnT
https://dl.doubtnut.com/l/_gTAvAb1tb40g


108. Estimate the sum by rounding each number

to the nearest ten. 

62 

72 

15 

Watch Video Solution

+19
–––––

109. Estimate the sum by rounding each number

to the nearest ten. 

https://dl.doubtnut.com/l/_gTAvAb1tb40g
https://dl.doubtnut.com/l/_PG5dfFSwyXnf
https://dl.doubtnut.com/l/_bRM2EcjwCSKm


123 

138 

Watch Video Solution

+147
––––––

110. Estimate the product: 

Watch Video Solution

45 × 25

111. Estimate the product: 

46 × 32

https://dl.doubtnut.com/l/_bRM2EcjwCSKm
https://dl.doubtnut.com/l/_m6P7IvPI2eNx
https://dl.doubtnut.com/l/_mtq6x41ZPiAV


Watch Video Solution

112. Estimate the product: 

Watch Video Solution

45 × 76

113. Estimate the product: 

Watch Video Solution

43 × 23

https://dl.doubtnut.com/l/_mtq6x41ZPiAV
https://dl.doubtnut.com/l/_oUHJMZnCYUIq
https://dl.doubtnut.com/l/_aLAnfUi7TsMH


114. Estimate the product: 

Watch Video Solution

55 × 37

115. Estimate the product: 

Watch Video Solution

45 × 93

116. Estimate the product: 

415 × 26

https://dl.doubtnut.com/l/_K67DWA0EypZO
https://dl.doubtnut.com/l/_63ZB60EK6iJf
https://dl.doubtnut.com/l/_nptXMHnMemay


Watch Video Solution

117. Estimate the product: 

Watch Video Solution

113 × 87

118. Estimate the product: 

Watch Video Solution

215 × 83

https://dl.doubtnut.com/l/_nptXMHnMemay
https://dl.doubtnut.com/l/_0nAJpT29qfaF
https://dl.doubtnut.com/l/_Se20dQ9mdVPP


119. Estimate the product: 

Watch Video Solution

415 × 237

120. Estimate the product: 

Watch Video Solution

418 × 138

121. Estimate the product: 

4965 × 102

https://dl.doubtnut.com/l/_P7cpnrM5Cja4
https://dl.doubtnut.com/l/_HLgfP9ZwlPvO
https://dl.doubtnut.com/l/_uAeIbM6lBoyi


Watch Video Solution

122. Estimate the product: 

Watch Video Solution

4605 × 203

123. Write Roman numeral for: 

17

Watch Video Solution

https://dl.doubtnut.com/l/_uAeIbM6lBoyi
https://dl.doubtnut.com/l/_JWwuxxgvUJsO
https://dl.doubtnut.com/l/_KFsU0dQk8ODi


124. Write Roman numeral for: 

23

Watch Video Solution

125. Write Roman numeral for: 

48

Watch Video Solution

126. Write Roman numeral for: 

75

https://dl.doubtnut.com/l/_0GozwuIPW21l
https://dl.doubtnut.com/l/_P7HJYu9OgW0u
https://dl.doubtnut.com/l/_gn6QFmuLrlD9


Watch Video Solution

127. Write Roman numeral for: 

95

Watch Video Solution

128. Write Roman numeral for: 

19

Watch Video Solution

https://dl.doubtnut.com/l/_gn6QFmuLrlD9
https://dl.doubtnut.com/l/_S4vivPSi7zOE
https://dl.doubtnut.com/l/_z6WbII3Oo9j1


129. Write Roman numeral for: 

41

Watch Video Solution

130. Write Roman numeral for: 

93

Watch Video Solution

131. Write Roman numeral for: 

87

https://dl.doubtnut.com/l/_4YogXiVeYt88
https://dl.doubtnut.com/l/_cFinsGaO11X2
https://dl.doubtnut.com/l/_3StK30vR6dgK


Watch Video Solution

132. Write Roman numeral for: 

64

Watch Video Solution

133. Write Hindu-Arabic numeral for: 

XXIV

Watch Video Solution

https://dl.doubtnut.com/l/_3StK30vR6dgK
https://dl.doubtnut.com/l/_HeONZ6SpUAZS
https://dl.doubtnut.com/l/_Hbw25FnDYsOq


134. Write Hindu-Arabic numeral for: 

LXXI

Watch Video Solution

135. Write Hindu-Arabic numeral for: 

XCI

Watch Video Solution

136. Write Hindu-Arabic numeral for: 

XLIX

https://dl.doubtnut.com/l/_7NOV89x8zuSd
https://dl.doubtnut.com/l/_hPnymJ0eep1z
https://dl.doubtnut.com/l/_ibRadbWgb8Im


Watch Video Solution

137. Write Hindu-Arabic numeral for: 

LXXV

Watch Video Solution

138. Write Hindu-Arabic numeral for: 

XCIX

Watch Video Solution

https://dl.doubtnut.com/l/_ibRadbWgb8Im
https://dl.doubtnut.com/l/_QtabWQ1lHJ7e
https://dl.doubtnut.com/l/_dgvJCqNKThE0


139. Write Hindu-Arabic numeral for: 

LXXXVI

Watch Video Solution

140. Write Hindu-Arabic numeral for: 

LXI

Watch Video Solution

141. Write Hindu-Arabic numerals for each of the

following: 

https://dl.doubtnut.com/l/_2tWeXGvSQ3Rd
https://dl.doubtnut.com/l/_FsrrKLIDuIl4
https://dl.doubtnut.com/l/_8lxy0hACkEO9


XLII

Watch Video Solution

142. Write Hindu-Arabic numerals for each of the

following: 

XLIV

Watch Video Solution

143. Write Hindu-Arabic numerals for each of the

following: 

LXVI

https://dl.doubtnut.com/l/_8lxy0hACkEO9
https://dl.doubtnut.com/l/_GAMOQi4swA3v
https://dl.doubtnut.com/l/_Dlhtd3ef42Ez


Watch Video Solution

144. Write Hindu-Arabic numerals for each of the

following: 

XCVIII

Watch Video Solution

145. Write Roman numeral for each of the

following: 

58

Watch Video Solution

https://dl.doubtnut.com/l/_Dlhtd3ef42Ez
https://dl.doubtnut.com/l/_6wu3ctaLBLdP
https://dl.doubtnut.com/l/_drkZVzSEwtWJ


146. Write Roman numeral for each of the

following: 

42

Watch Video Solution

147. Write Roman numeral for each of the

following: 

97

Watch Video Solution

https://dl.doubtnut.com/l/_drkZVzSEwtWJ
https://dl.doubtnut.com/l/_bbr1gyO6gs8I
https://dl.doubtnut.com/l/_Qdb2FSCfkzdz
https://dl.doubtnut.com/l/_iC1kFc4VL9zB


148. Write Roman numeral for each of the

following: 

66

Watch Video Solution

149. Compare the following, using  

XLII, XLIV

Watch Video Solution

> , < , =

https://dl.doubtnut.com/l/_iC1kFc4VL9zB
https://dl.doubtnut.com/l/_1GlNsiO9B71e


150. Compare the following, using  

LVII, LXVI

Watch Video Solution

> , < , =

151. Compare the following, using  

XCVII, C

Watch Video Solution

> , < , =

152. Compare the following, using  

LXXI, XLIX

> , < , =

https://dl.doubtnut.com/l/_kxAAr4pbLMvO
https://dl.doubtnut.com/l/_OKydg3yR8MVg
https://dl.doubtnut.com/l/_C6GY06DZKmVg


Watch Video Solution

153. Write any three natural numbers.

Watch Video Solution

154. Write a whole numbers which is also a

natural number.

Watch Video Solution

https://dl.doubtnut.com/l/_C6GY06DZKmVg
https://dl.doubtnut.com/l/_1GuK5RjannIH
https://dl.doubtnut.com/l/_anNu6yRkjcFN


155. Write a whole number which is not a natural

number.

Watch Video Solution

156. Write the successor of: 

19

Watch Video Solution

157. Write the successor of: 

70

https://dl.doubtnut.com/l/_A07DE57rMcHa
https://dl.doubtnut.com/l/_LEPUngAGvV83
https://dl.doubtnut.com/l/_o8M2n4w4YSKv


Watch Video Solution

158. Write the successor of: 

312

Watch Video Solution

159. Write the successor of: 

2019

Watch Video Solution

https://dl.doubtnut.com/l/_o8M2n4w4YSKv
https://dl.doubtnut.com/l/_OQVXHFdo4hww
https://dl.doubtnut.com/l/_SIlDmwkjO7GJ


160. Write the successor of: 

13700

Watch Video Solution

161. Write the predecessor of: 

37

Watch Video Solution

162. Write the predecessor of: 

219

https://dl.doubtnut.com/l/_C3lsXRW7CinF
https://dl.doubtnut.com/l/_PvS6mAE3RDYO
https://dl.doubtnut.com/l/_YWpXyi3xVCEM


Watch Video Solution

163. Write the predecessor of: 

703

Watch Video Solution

164. Write the predecessor of: 

1900

Watch Video Solution

https://dl.doubtnut.com/l/_YWpXyi3xVCEM
https://dl.doubtnut.com/l/_RjSxRMP1aS5F
https://dl.doubtnut.com/l/_5tPTJ5dzu3uN


165. Write the predecessor of: 

51376

Watch Video Solution

166. In each of the following pairs of numbers,

which is the smallest number? 

317, 713

Watch Video Solution

https://dl.doubtnut.com/l/_TDpofRajO311
https://dl.doubtnut.com/l/_AnOtbzPsV6T4


167. In each of the following pairs of numbers,

which is the smallest number? 

933, 9303

Watch Video Solution

168. In each of the following pairs of numbers,

which is the smallest number? 

9907, 7091

Watch Video Solution

https://dl.doubtnut.com/l/_Q2rniUHTB27Y
https://dl.doubtnut.com/l/_JP9AuVOH0zZT


169. In each of the following pairs of numbers,

which is the smallest number? 

98315, 8395

Watch Video Solution

170. Which of the following statements are true

(T) and which are false (F)? 

Zero (0) is the smallest whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_HtD9vNnOiCJ5
https://dl.doubtnut.com/l/_dwDSzrz6CYEk


171. Which of the following statements are true

(T) and which are false (F)? 

1 is the smallest natural number.

Watch Video Solution

172. Which of the following statements are true

(T) and which are false (F)? 

All natural numbers are whole numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_rRSzoLaUm1Uy
https://dl.doubtnut.com/l/_CA2lnKkSfoKL


173. Which of the following statements are true

(T) and which are false (F)? 

All whole numbers are natural numbers.

Watch Video Solution

174. Which of the following statements are true

(T) and which are false (F)? 

There are infinite number of whole numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Jto8qqwgg6XJ
https://dl.doubtnut.com/l/_J73UL7QqSje5


175. Which of the following statements are true

(T) and which are false (F)? 

We cannot represent all whole numbers on the

number line.

Watch Video Solution

176. Which of the following statements are true

(T) and which are false (F)? 

The successor of 100 is 1000.

Watch Video Solution

https://dl.doubtnut.com/l/_p3OyGDymJqfl
https://dl.doubtnut.com/l/_YLBOAI5viiJy
https://dl.doubtnut.com/l/_dQ7v2Wtv1uwx


177. Which of the following statements are true

(T) and which are false (F)? 

The predecessor of 1000 is 999.

Watch Video Solution

178. Which of the following statements are true

(T) and which are false (F)? 

Zero (0) is less than every whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_dQ7v2Wtv1uwx
https://dl.doubtnut.com/l/_lecPem5UCEKJ


179. Fill in the blanks: 

41 + 35 = ________ + 41

Watch Video Solution

180. Fill in the blanks: 

173 + 0 = ________

Watch Video Solution

181. Fill in the blanks: 

83 + 100 = 100 + _______

https://dl.doubtnut.com/l/_wXxZJopG24s8
https://dl.doubtnut.com/l/_qYi5HfuHFdDD
https://dl.doubtnut.com/l/_MpyiLy1QDbUJ


Watch Video Solution

182. Fill in the blanks: 

 ________

Watch Video Solution

17 × 25 × = 25 ×

183. Fill in the blanks: 

 ________

Watch Video Solution

17 × 1 =

https://dl.doubtnut.com/l/_MpyiLy1QDbUJ
https://dl.doubtnut.com/l/_iCkBOe1HD2L2
https://dl.doubtnut.com/l/_ni8WGUykXLhR


184. Fill in the blanks: 

_______

Watch Video Solution

19 × 101 = × 19

185. State whether true (T) or false (F): 

17 - 11 = 11 - 17

Watch Video Solution

186. State whether true (T) or false (F): 

9 + 3 = 3 + 9

https://dl.doubtnut.com/l/_PACMviTm7cbd
https://dl.doubtnut.com/l/_SZMc3UvuNWlu
https://dl.doubtnut.com/l/_mfPk6xHQobTn


Watch Video Solution

187. State whether true (T) or false (F): 

29 - 0 = 0 - 29

Watch Video Solution

188. State whether true (T) or false (F): 

Watch Video Solution

18 × 1 = 1 × 18

https://dl.doubtnut.com/l/_mfPk6xHQobTn
https://dl.doubtnut.com/l/_4sdRZuOFoIT2
https://dl.doubtnut.com/l/_W82KdPUaVY2C


189. State whether true (T) or false (F): 

`67 +31=31+67

Watch Video Solution

190. State whether true (T) or false (F): 

Watch Video Solution

101 × 11 = 11 × 101

191. State whether true (T) or false (F): 

(57 + 6) + 13 = 57 + (6 + 13)

https://dl.doubtnut.com/l/_MbwEUK4tZIMf
https://dl.doubtnut.com/l/_xrdwgqdZ7nGo
https://dl.doubtnut.com/l/_NbEV7fktD1zy


Watch Video Solution

192. State whether true (T) or false (F): 

Watch Video Solution

(17 − 3) − 2 = 71 − (3 − 2)

193. Find the whole number for which: 

Watch Video Solution

n × n = n

https://dl.doubtnut.com/l/_NbEV7fktD1zy
https://dl.doubtnut.com/l/_pajtiRXxtMx0
https://dl.doubtnut.com/l/_lknF9TLcAqrO


194. Find the whole number for which: 

Watch Video Solution

n − 7 = 5

195. Using the distributive properties, simplify

each of the following: 

Watch Video Solution

108 × 65

https://dl.doubtnut.com/l/_cWY6IG42lpkR
https://dl.doubtnut.com/l/_s35C93EobbyG


196. Using the distributive properties, simplify

each of the following: 

Watch Video Solution

70 × 97

197. Using the distributive properties, simplify

each of the following: 

Watch Video Solution

65 × 813 − 65 × 13

https://dl.doubtnut.com/l/_aogHZgb9fXZV
https://dl.doubtnut.com/l/_Unneg0TLyz8L


198. Which of the following statements are true

(T) and which are false (F)? 

The sum of two even natural numbers is an even

number.

Watch Video Solution

199. Which of the following statements are true

(T) and which are false (F)? 

The sum of two odd whole numbers is an even

number.

Watch Video Solution

https://dl.doubtnut.com/l/_B9XrR7B8PWqb
https://dl.doubtnut.com/l/_QKG9o8ts6nob


200. Which of the following statements are true

(T) and which are false (F)? 

The sum of two whole numbers, one of which is

odd and the other is even is an even number.

Watch Video Solution

201. Which of the following statements are true

(T) and which are false (F)? 

There exists a natural number which when added

to a given natural number gives that number.

W h Vid S l i

https://dl.doubtnut.com/l/_QKG9o8ts6nob
https://dl.doubtnut.com/l/_EeWcBh9UGXT3
https://dl.doubtnut.com/l/_lpUjzdwyyFwQ


Watch Video Solution

202. Which of the following statements are true

(T) and which are false (F)? 

There exists a whole number which when added

to a given whole number gives that number.

Watch Video Solution

203. Which of the following statements are true

(T) and which are false (F)? 

If a, b, c are any three whole numbers then a + (b

+ c) = (b + a) + c.

https://dl.doubtnut.com/l/_lpUjzdwyyFwQ
https://dl.doubtnut.com/l/_cseExOhzRnRH
https://dl.doubtnut.com/l/_Ok9tRaWKA8dM


Watch Video Solution

204. Which of the following statements are true

(T) and which are false (F)? 

The sum of two whole numbers is always greater

than their difference.

Watch Video Solution

205. Which of the following statements are true

(T) and which are false (F)? 

https://dl.doubtnut.com/l/_Ok9tRaWKA8dM
https://dl.doubtnut.com/l/_PwHd4eKiv5o7
https://dl.doubtnut.com/l/_ajz6gyewH9sI


The sum of two whole numbers is always less

than their product.

Watch Video Solution

206. Which of the following statements are true

(T) and which are false (F)? 

If the sum of two whole numbers is odd, then

their difference is also odd.

Watch Video Solution

https://dl.doubtnut.com/l/_ajz6gyewH9sI
https://dl.doubtnut.com/l/_iyYbC2OswvYW


207. Which of the following statements are true

(T) and which are false (F)? 

There does not exist any whole number p for

which .

Watch Video Solution

p ÷ p = p

208. Which of the following statements are true

(T) and which are false (F)? 

There exists a whole number q such that

.

Watch Video Solution

q ÷ q = q

https://dl.doubtnut.com/l/_lpS8CVpyWaSO
https://dl.doubtnut.com/l/_i3FjiTE2x4Ft


209. Which of the following statements are true

(T) and which are false (F)? 

There are more than one whole numbers n such

that 

Watch Video Solution

n × n = n

210. Which of the following statements are true

(T) and which are false (F)? 

Given two distinct non-zero whole numbers a and

b, we have .

W h Vid S l i

a ÷ b = b ÷ a

https://dl.doubtnut.com/l/_i3FjiTE2x4Ft
https://dl.doubtnut.com/l/_H1dg2udw4NhN
https://dl.doubtnut.com/l/_eYACHhhyJjJh


Watch Video Solution

211. Use integers to represent the following

temperatures. 

 below freezing point (0 

Watch Video Solution

18∘ C ∘ C)

212. Use integers to represent the following

temperatures. 

18  above freezing point (0 

Watch Video Solution

∘ C ∘ (C)

https://dl.doubtnut.com/l/_eYACHhhyJjJh
https://dl.doubtnut.com/l/_bQ5dolIDR9Ob
https://dl.doubtnut.com/l/_5GKLtVDjWzuW


213. Which integer is smaller, -2 or 3?

Watch Video Solution

214. Which integer is greater -3 or -5?

Watch Video Solution

215. Arrange the following integers in ascending

order. 

-5, 3, -2, 6, 2, 7, 0

Watch Video Solution

https://dl.doubtnut.com/l/_hqqR3VyHiztS
https://dl.doubtnut.com/l/_ckj3Cs1uYGDF
https://dl.doubtnut.com/l/_B56ZCPdtxGaH


216. Arrange the following integers in descending

order. 

3, -1, -2, 5, -8, -5

Watch Video Solution

217. Determine the largest and the smallest

integers from the following integers. 

-12, 7, 8, 0, -9, 5, -10

Watch Video Solution

https://dl.doubtnut.com/l/_B56ZCPdtxGaH
https://dl.doubtnut.com/l/_lETCH923b0Bn
https://dl.doubtnut.com/l/_DZWy6ZMEHdYf


218. Fill in the blanks in the sequence below. 

-15, -10, , 10, 15

Watch Video Solution

□ , □ , □

219. Use a positive or a negative number to

denote each of the following. 

(i) 18 m above sea level 

(ii) 8 m below sea level

Watch Video Solution

https://dl.doubtnut.com/l/_08zN29UIdfBu
https://dl.doubtnut.com/l/_cpIosi74rWcA


220. Use a positive or a negative number to

denote each of the following. 

(i) Profit of Rs. 188 

(ii) Loss of Rs. 254

Watch Video Solution

221. Use a positive or a negative number to

denote each of the following. 

(i) 15 km to the east 

(ii) 30 km to the west

Watch Video Solution

https://dl.doubtnut.com/l/_EM7v6BOT94Zo
https://dl.doubtnut.com/l/_VgG3FfguNXi6


222. Find the answers of the following additions. 

Watch Video Solution

( − 11) + ( − 12)

223. Find the answers of the following additions. 

Watch Video Solution

( + 10) + ( + 4)

https://dl.doubtnut.com/l/_VgG3FfguNXi6
https://dl.doubtnut.com/l/_r5utFzbqinLl
https://dl.doubtnut.com/l/_ycxpYGYVTQFi


224. Find the answers of the following additions. 

Watch Video Solution

( − 32) + ( − 25)

225. Find the answers of the following additions. 

Watch Video Solution

( + 23) + ( + 40)

226. Find the solution of the following: 

( − 7) + ( + 8)

https://dl.doubtnut.com/l/_15fcNs83jJ7E
https://dl.doubtnut.com/l/_LQv8izCm7OKx
https://dl.doubtnut.com/l/_ox7GXrDg9plC


Watch Video Solution

227. Find the solution of the following: 

Watch Video Solution

( − 9) + ( + 13)

228. Find the solution of the following: 

Watch Video Solution

( + 7) + ( − 10)

https://dl.doubtnut.com/l/_ox7GXrDg9plC
https://dl.doubtnut.com/l/_2UyJftCo5y9E
https://dl.doubtnut.com/l/_2OeL1Hbc4iHr


229. Find the solution of the following: 

Watch Video Solution

( + 12) + ( − 7)

230. Find the solution of the following additions

using a number line. 

Watch Video Solution

( − 2) + 6

https://dl.doubtnut.com/l/_NxiYU73OMzD0
https://dl.doubtnut.com/l/_KldPoL0GXcdC


231. Find the solution of the following additions

using a number line. 

.

Watch Video Solution

( − 6) + 2

232. Find the solution of the following without

using number line: 

Watch Video Solution

( + 7) + ( − 11)

https://dl.doubtnut.com/l/_9mLo48CYzHmM
https://dl.doubtnut.com/l/_AiQyIrYoBJ44


233. Find the solution of the following without

using number line: 

Watch Video Solution

( − 13) + ( + 10)

234. Find the solution of the following without

using number line: 

Watch Video Solution

( − 7) + ( + 9)

https://dl.doubtnut.com/l/_tPRk0agdiKhr
https://dl.doubtnut.com/l/_107wREAvLgPN


235. Find the solution of the following without

using number line: 

.

Watch Video Solution

( + 10) + ( − 5)

236. Using the number line write the integer

which is : 

3 more than 5

Watch Video Solution

https://dl.doubtnut.com/l/_TjazdFjkeEki
https://dl.doubtnut.com/l/_x710mDJ3n1kj


237. Using the number line write the integer

which is : 

5 more than -5

Watch Video Solution

238. Using the number line write the integer

which is : 

6 less than 2

Watch Video Solution

https://dl.doubtnut.com/l/_QVkqBpdSCNjv
https://dl.doubtnut.com/l/_FnVQLaNSt7Vn


239. Using the number line write the integer

which is : 

3 less than -2.

Watch Video Solution

240. Use number line and add the following

integers: 

Watch Video Solution

9 + ( − 6)

https://dl.doubtnut.com/l/_3nZLb9cYpHha
https://dl.doubtnut.com/l/_kBqJRfakvm9W


241. Use number line and add the following

integers: 

Watch Video Solution

5 + ( − 11)

242. Use number line and add the following

integers: 

Watch Video Solution

( − 1) + ( − 7)

https://dl.doubtnut.com/l/_3BolMxvDy9cb
https://dl.doubtnut.com/l/_MNpuH5UpxMKR


243. Use number line and add the following

integers: 

Watch Video Solution

( − 5) + 10

244. Fill in the blanks : 

-9 + ………… = 0

Watch Video Solution

https://dl.doubtnut.com/l/_oKkUqeiHTQr6
https://dl.doubtnut.com/l/_UrysZlEu4zoj


245. Fill in the blanks : 

16 + (-16) = …………

Watch Video Solution

246. Fill in the blanks : 

-264 + …………… = -364

Watch Video Solution

247. Fill in the blanks : 

-9 + …………… = -17

https://dl.doubtnut.com/l/_QvOeN2Zo5bvu
https://dl.doubtnut.com/l/_PLbqrmLqOTdG
https://dl.doubtnut.com/l/_HZqmdE30sVDD


Watch Video Solution

248. Fill in the blanks : 

…………… + 315 = -74

Watch Video Solution

249. Which of the following statements are true ? 

Watch Video Solution

−14 > − 8 − ( − 7)

https://dl.doubtnut.com/l/_HZqmdE30sVDD
https://dl.doubtnut.com/l/_lwRrOU8iEcEE
https://dl.doubtnut.com/l/_8yuSi0Rn5IwS


250. Which of the following statements are true ? 

.

Watch Video Solution

−5 − ( − 2) > − 8

251. Which of the following statements are true ? 

The sum of two integers is always an integer.

Watch Video Solution

252. Which of the following statements are true ? 

The difference of two integers is always an

https://dl.doubtnut.com/l/_MHCDrp8xwpzd
https://dl.doubtnut.com/l/_RJDrERT6jfxv
https://dl.doubtnut.com/l/_499PIoclm496


integer.

Watch Video Solution

253. Subtract the first integer from the second in

each of the following : 

18, -34

Watch Video Solution

254. Subtract the first integer from the second in

each of the following : 

-15, 25

https://dl.doubtnut.com/l/_499PIoclm496
https://dl.doubtnut.com/l/_zoSishhf99kE
https://dl.doubtnut.com/l/_99NNfVE3IAvQ


Watch Video Solution

255. Subtract the first integer from the second in

each of the following : 

-28, -42

Watch Video Solution

256. Subtract the first integer from the second in

each of the following : 

+68, -37

Watch Video Solution

https://dl.doubtnut.com/l/_99NNfVE3IAvQ
https://dl.doubtnut.com/l/_YSWkAJaAIX8A
https://dl.doubtnut.com/l/_R78mbrk0ES13


257. Subtract the first integer from the second in

each of the following : 

219, 0

Watch Video Solution

258. Subtract the first integer from the second in

each of the following : 

-92, 0

Watch Video Solution

https://dl.doubtnut.com/l/_R78mbrk0ES13
https://dl.doubtnut.com/l/_ggVAvGcJgQzA
https://dl.doubtnut.com/l/_U3IUHsXgYELI
https://dl.doubtnut.com/l/_NHgXBSD3zH3t


259. Subtract the first integer from the second in

each of the following : 

-135, -250

Watch Video Solution

260. Subtract the first integer from the second in

each of the following : 

-2768, -287

Watch Video Solution

https://dl.doubtnut.com/l/_NHgXBSD3zH3t
https://dl.doubtnut.com/l/_lcH8WeUo3wfs


261. Subtract the first integer from the second in

each of the following : 

-3012, 6250

Watch Video Solution

262. Subtract -3 from 8. Are the two results the

same?

Watch Video Solution

https://dl.doubtnut.com/l/_31Avu7LLYgRx
https://dl.doubtnut.com/l/_fRmj9ro24b1S


263. Find the value of:

Watch Video Solution

−12 + ( − 98) − ( − 84) + ( − 7)

264. p and q are two integers such that p is the

successor of q. Find the value of p - q.

Watch Video Solution

265. Find the value of : 

−19 − ( − 16)

https://dl.doubtnut.com/l/_TjYHoSSLKoi0
https://dl.doubtnut.com/l/_Tj0hoKPJjzsp
https://dl.doubtnut.com/l/_VrErmHTEvzOG


Watch Video Solution

266. Find the value of : 

Watch Video Solution

−6 − 3 − ( − 18)

267. Find the value of : 

Watch Video Solution

(3 − 5) + (3 − 5)

https://dl.doubtnut.com/l/_VrErmHTEvzOG
https://dl.doubtnut.com/l/_ZQ8V3wcKXNw9
https://dl.doubtnut.com/l/_XykzGfbJD5jG


268. Find the value of : 

Watch Video Solution

−17 + 36 − 18 − 1

269. Find the value of : 

Watch Video Solution

60 + ( − 58) − ( − 4)

270. Find the value of : 

.−5 + ( − 6) + ( − 80)

https://dl.doubtnut.com/l/_f6kodRwvGTOv
https://dl.doubtnut.com/l/_1hk4ioNlj9qS
https://dl.doubtnut.com/l/_qZjc1fjLsPPV


Summative Worksheet

Watch Video Solution

1. Which digit in the number 568 731 has a place

value of thousands?

A. 8

B. 7

C. 6

D. 5

https://dl.doubtnut.com/l/_qZjc1fjLsPPV
https://dl.doubtnut.com/l/_suZB8DNboRQE


Answer:

Watch Video Solution

2. Digit 4 in the number 14 512 represents

A. 4 units

B. 4 tens

C. 4 hundeds

D. 4 thousands

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_suZB8DNboRQE
https://dl.doubtnut.com/l/_rIrCNUUcB0lZ


Watch Video Solution

3. 20 985 rounded off to the nearest ten is

A. 20 000

B. 20 900

C. 20 990

D. 21 000

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_rIrCNUUcB0lZ
https://dl.doubtnut.com/l/_ZYuTZLGrsLh6


4. Which of the following, when rounded off to

the nearest thousand, is 38 000?

A. 38400

B. 38500

C. 38600

D. 38700

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NpWwNgJsPxiy


5. 587 315 is written as 590 000 aftere it has been

rounded off to

A. the nearest ten

B. the nearest hundred

C. the nearest thousand

D. the nearest ten thousand

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gPRZPF36bFZh


6. 1,384 + 5,580 + 47,218 =

A. 54182

B. 54178

C. 51184

D. 51178

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_l6iTtO4JJvhH


7. The sum of which of the following is the

smallest?

A. 923 + 456

B. 701 + 632

C. 602 + 788

D. 513 + 998

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_g8Wp5DrjBWZN


8. 

A. 1000, 100

B. 1000, 10

C. 1000, 10

D. 100, 0

Answer:

Watch Video Solution

83, 102 = 80, 000 + 3, 000 + _______ + _______ + 2

https://dl.doubtnut.com/l/_FMbxXU0FqPNA


9. A basket of apples weigh 500 g. If Kaveri bought

7 baskets of apples, how much would they weigh?

A. 3,500 kg

B. 350 kg

C. 35 kg

D. 3.5 kg

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_sCqA4CfRHGyd


10. Universal Tuition Centre has 1,070 students. Of

these, 598 are boys. How many students in the

centre are girls?

A. 1668

B. 488

C. 472

D. 462

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bB4K5HZeJ8g6
https://dl.doubtnut.com/l/_33h1dUONuwxS


11. 2,493 - 276 =

A. 2769

B. 2627

C. 2227

D. 2217

Answer:

Watch Video Solution

12. 371 503 - 281 498 =

https://dl.doubtnut.com/l/_33h1dUONuwxS
https://dl.doubtnut.com/l/_hR9SjaPYfvA5


A. 91, 005

B. 90905

C. 90095

D. 90005

Answer:

Watch Video Solution

13. 209 - 21 - 69 =

A. 119

https://dl.doubtnut.com/l/_hR9SjaPYfvA5
https://dl.doubtnut.com/l/_PrydfOYgYez8


B. 109

C. 99

D. 89

Answer:

Watch Video Solution

14. Shyam earns Rs. 3,500. If he spent Rs. 1,249 on

buying a handphone, what is the balance his

salary?

A. Rs. 2,751

https://dl.doubtnut.com/l/_PrydfOYgYez8
https://dl.doubtnut.com/l/_zXKu2S38BQpM


B. Rs. 2,251

C. Rs. 2,151

D. Rs. 2,059

Answer:

Watch Video Solution

15. The integer - 18 is read as

A. minus 18

B. negative 18

https://dl.doubtnut.com/l/_zXKu2S38BQpM
https://dl.doubtnut.com/l/_5ZEpkl5YqdSN


C. subtract 18

D. negative 18 units

Answer:

Watch Video Solution

16. A glass of water is at its freezing point of 0 

. When salt is added, its temperature drops to 5

 below zero. What is the temperature of the

water?

A. 5 

∘ C

∘ C

∘ C

https://dl.doubtnut.com/l/_5ZEpkl5YqdSN
https://dl.doubtnut.com/l/_8dI8Zdv1iaS4


B. 

C. 

D. 5  below zero

Answer:

Watch Video Solution

+5  ∘ C

−5  ∘ C

∘ C

17.  

The integers represented by S and T on the above

number line are:

A. 
S T

−14 7

https://dl.doubtnut.com/l/_8dI8Zdv1iaS4
https://dl.doubtnut.com/l/_p6jT1HZxQzW2


B. 

C. 

D. 

Answer:

Watch Video Solution

S T

−14 2

S T

−8 14

S T

−14 14

18. Which of the following is incorrect?

A. 

B. 

4 > 0

5 < − 3

https://dl.doubtnut.com/l/_p6jT1HZxQzW2
https://dl.doubtnut.com/l/_DuPfps9D2IHS


C. 

D. 

Answer:

Watch Video Solution

7 > − 3

8 < 9

19. Which of the following integers has the

greatest value?

A. -11

B. -10

C. -9

https://dl.doubtnut.com/l/_DuPfps9D2IHS
https://dl.doubtnut.com/l/_usAc0DTsf6JY


D. -8

Answer:

Watch Video Solution

20. If +8 means 8 units forward, then -8 means 8

units

A. forward

B. to the right

C. backward

D. to the left

https://dl.doubtnut.com/l/_usAc0DTsf6JY
https://dl.doubtnut.com/l/_UUmd9K1kb3Wq


Answer:

Watch Video Solution

21. If a profit of Rs. 2180 is written as +Rs. 2180,

then a loss of Rs. 2180 should be written as

A. Rs. 0

B. Rs. 180

C. Rs. -2180

D. Rs. 2180

Answer:

−

https://dl.doubtnut.com/l/_UUmd9K1kb3Wq
https://dl.doubtnut.com/l/_iVNHBlNpUy2I


Watch Video Solution

22. Draw a number line and represent each of the

following on it : 

Watch Video Solution

9 + ( − 6)

23. Draw a number line and represent each of the

following on it : 

Watch Video Solution

( − 3) + 7

https://dl.doubtnut.com/l/_iVNHBlNpUy2I
https://dl.doubtnut.com/l/_sXoIUJPaKX4D
https://dl.doubtnut.com/l/_gSNWQTlndxAm


24. Draw a number line and represent each of the

following on it : 

Watch Video Solution

8 + ( − 8)

25. Draw a number line and represent each of the

following on it : 

Watch Video Solution

3 + ( − 2) + ( − 4)

https://dl.doubtnut.com/l/_gSNWQTlndxAm
https://dl.doubtnut.com/l/_lOuxVH2RWpya
https://dl.doubtnut.com/l/_303j1aTcUzoN
https://dl.doubtnut.com/l/_W5In2oaORPW4


26. Draw a number line and represent each of the

following on it : 

Watch Video Solution

( − 1) + ( − 2) + ( − 3)

27. Draw a number line and represent each of the

following on it : 

Watch Video Solution

5 + ( − 2) + ( − 6)

https://dl.doubtnut.com/l/_W5In2oaORPW4
https://dl.doubtnut.com/l/_q3tEeUnViLFi


28. Add the integers in each of the following : 

-365, -87

Watch Video Solution

29. Add the integers in each of the following : 

1001, -13

Watch Video Solution

30. Add the integers in each of the following : 

-3057, 199

https://dl.doubtnut.com/l/_aMkFUp1wmnjl
https://dl.doubtnut.com/l/_ULZ4D0Cha4Bt
https://dl.doubtnut.com/l/_9UIptH4CG8gO


Watch Video Solution

31. Add the integers in each of the following : 

-36, +1027

Watch Video Solution

32. Add the integers in each of the following : 

-389, -1032

Watch Video Solution

https://dl.doubtnut.com/l/_9UIptH4CG8gO
https://dl.doubtnut.com/l/_59edCPP7Rc9t
https://dl.doubtnut.com/l/_lIOxTeOLJxLL


33. Add the integers in each of the following : 

-36, 100

Watch Video Solution

34. Add the integers in each of the following : 

-313, 39, 192

Watch Video Solution

35. Add the integers in each of the following : 

-51, -203, 36, -28

https://dl.doubtnut.com/l/_Lz3xzTkZaZGq
https://dl.doubtnut.com/l/_Kn4uGLmXb628
https://dl.doubtnut.com/l/_ciC17AjhdkF5


Watch Video Solution

36. Add the integers in each of the following : 

3002, -888

Watch Video Solution

37. Add the integers in each of the following : 

-18, 25, -37

Watch Video Solution

https://dl.doubtnut.com/l/_ciC17AjhdkF5
https://dl.doubtnut.com/l/_J46crf8aBkWO
https://dl.doubtnut.com/l/_LZ7COhxTySi4


38. Find the sum : 

Watch Video Solution

( − 7) + ( − 9) + 4 + ( − 10)

39. Find the sum : 

Watch Video Solution

37 + ( − 23) − ( − 65) + ( − 8)

40. Find the sum : 

( − 147) + 79 + ( − 265) + ( − 39)

https://dl.doubtnut.com/l/_ZYgvENW3Y1vt
https://dl.doubtnut.com/l/_Qs7kWUAcdR9a
https://dl.doubtnut.com/l/_wbzvP4C9rLXn


Watch Video Solution

41. Find the sum : 

.

Watch Video Solution

056 + ( − 798) + ( − 38) + 56

42. Let us invent an operation  for integers such

that for two integers a and b. 

 Determine 


Watch Video Solution

∗

a ∗ b = a + b + ( − 2a)

( − 4) ∗ 5

https://dl.doubtnut.com/l/_wbzvP4C9rLXn
https://dl.doubtnut.com/l/_FrNE4w7P0b08
https://dl.doubtnut.com/l/_Qf6s1WyqAH3p


43. Let us invent an operation  for integers such

that for two integers a and b. 

 Determine 


.

Watch Video Solution

∗

a ∗ b = a + b + ( − 2a)

5∗ ( − 2)

44. Which of the following statements are true ? 

Zero is a negative integer.

Watch Video Solution

https://dl.doubtnut.com/l/_Qf6s1WyqAH3p
https://dl.doubtnut.com/l/_AkudeUdlkJ9t
https://dl.doubtnut.com/l/_oVm07rQ7Z2ED
https://dl.doubtnut.com/l/_BZJ9B3LPTEjH


45. Which of the following statements are true ? 

0 + 0 = 0

Watch Video Solution

46. Which of the following statements are true ? 

0 is the smallest integer.

Watch Video Solution

47. Which of the following statements are true ? 

The successor - 61 is - 62.

https://dl.doubtnut.com/l/_BZJ9B3LPTEjH
https://dl.doubtnut.com/l/_HvqEnAs7LjPs
https://dl.doubtnut.com/l/_IJERbCznHhzU


Watch Video Solution

48. Which of the following statements are true ? 

Sum of 3 different integers is always zero.

Watch Video Solution

49. Which of the following statements are true ? 

The predecessor of -200 is -201.

Watch Video Solution

https://dl.doubtnut.com/l/_IJERbCznHhzU
https://dl.doubtnut.com/l/_EBcjqStkMx9r
https://dl.doubtnut.com/l/_fl7t8KqKLNMs


50. The sum of two integers is -337. If one of them

is 250, find the other.

Watch Video Solution

51. A place is 37 m above sea level and another is

35 m, below sea level. What is the difference of

level between the two places ?

Watch Video Solution

https://dl.doubtnut.com/l/_zR7kX7a3C3Wf
https://dl.doubtnut.com/l/_uWCwdfjkVtPj


52. The sum of two integers is -639. If one of them

is 529, find the other.

Watch Video Solution

53. Find the difference of the sum of odd numbers

and sum of even numbers between 10 and 20.

Watch Video Solution

54. Subtract the sum of -8 and -28 from the sum

of -13 and 31.

https://dl.doubtnut.com/l/_Q8wb6EOPbXIP
https://dl.doubtnut.com/l/_1WlC36quLPAI
https://dl.doubtnut.com/l/_WDis4TyfSNkS


Hots Worksheet

Watch Video Solution

1. Add the following : 

The smallest four-digit whole number, the

greatest three-digit whole number and the

smallest five-digit whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_WDis4TyfSNkS
https://dl.doubtnut.com/l/_mG147yWHDc05


2. Write all the possible three-digit numbers using

the digits 6, 8, 0 and add them.

Watch Video Solution

3. Write and add three consecutive numbers from

96,778.

Watch Video Solution

4. There are 12,000 men, 11,789 women annd 1,700

children in a village. Find the population of the

https://dl.doubtnut.com/l/_FLd2g6RwKpKy
https://dl.doubtnut.com/l/_05o4z8GyrYAl
https://dl.doubtnut.com/l/_TGH1nBqXJ1p4


village.

Watch Video Solution

5. Kishore had Rs. 32,840. He deposited Rs. 17000

in a savings ban account and Rs. 2,500 in a fixed

deposit account in a bank. How much money was

left with him?

Watch Video Solution

6. The cost of a wet-grinder is Rs. 3,755. The costs

of a fruit-juicer is Rs. 1,250 less than that of the

https://dl.doubtnut.com/l/_TGH1nBqXJ1p4
https://dl.doubtnut.com/l/_xQ9AWqtcy9AK
https://dl.doubtnut.com/l/_Yk7oLWNHGxoX


wet-grinder. Find the total cost of the wet-grinder

and the fruit juicer.

Watch Video Solution

7. A 29-inch colour TV set costs Rs. 32,565 and a 21

inch model costs Rs. 18,675. How much more does

the bigger TV set cost?

Watch Video Solution

8. Do as directed: 

Divide 120 by the product of 4 and 3.

https://dl.doubtnut.com/l/_Yk7oLWNHGxoX
https://dl.doubtnut.com/l/_llPyJzHKBK91
https://dl.doubtnut.com/l/_Kequa8jkJR1r


Watch Video Solution

9. Do as directed: 

Add the greatest two digit-number to the

difference of 14 and 3.

Watch Video Solution

10. Do as directed: 

Subtract product of 61 and 17 from 1,685

Watch Video Solution

https://dl.doubtnut.com/l/_Kequa8jkJR1r
https://dl.doubtnut.com/l/_XYQuKJCfouU4
https://dl.doubtnut.com/l/_gnOFWeSrRmF3
https://dl.doubtnut.com/l/_zRIKnbJH3blh


11. Do as directed: 

Multiply 715 by 20 and divide by 25

Watch Video Solution

12. The first Class fare from Chennai to

Coimbatore is Rs. 557 and the sleeper class fare is

Rs. 165. How much would a family of 4 members

save by choosing to travel by sleeper class?

Watch Video Solution

https://dl.doubtnut.com/l/_zRIKnbJH3blh
https://dl.doubtnut.com/l/_ogDb9eE91wF4


13. A day consists of 24 hours. How many hours

will there be in the year 2005 and 2008 and find

the difference between them?

Watch Video Solution

14. The stock market average fell 317 points in one

day. Represent this quantity by an integer.

Watch Video Solution

https://dl.doubtnut.com/l/_nCVqeH0GEcCx
https://dl.doubtnut.com/l/_2G9SR7dyJzml


15. The lowest elevation in India is found at Nilgir

Valley at an elevation of 282 feet below sea level.

Represent this elevation with an integer.

Watch Video Solution

16. The temperature on one January day in Delhi

was - 10 degrees Celsius. Tell whether this

temperature is cooler or warmer than - 5 degrees

Celsius.

Watch Video Solution

https://dl.doubtnut.com/l/_KVE9sKHGGffX
https://dl.doubtnut.com/l/_RABMko6aCkcE
https://dl.doubtnut.com/l/_0msPiGRV5mq4


17. The temperature at 4 P.M. on February 2nd was

-  Celsius. By 11 P.M. the temperature had risen

12 degrees. Find the temperature at 11 P.M.

Watch Video Solution

10∘

18. Arun has Rs. 125 in his saving account. He

writes a cheque for Rs. 117, makes a deposit of Rs.

45, and then write another cheque for Rs. 69. Find

the amount left in his account. (Write the amount

as an integer).

Watch Video Solution

https://dl.doubtnut.com/l/_0msPiGRV5mq4
https://dl.doubtnut.com/l/_RKIgs6pwH9V6


19. In a test, it is possible to have a negative score.

If Krishna's score is 15, what is his new score if he

loses 20 points?

Watch Video Solution

20. A mountain peak in Himalayas has an

elevation of 14,393 feet above sea level. A deep-

sea trench in the Pacific Ocean has an elevation of

12, 456 feet below sea level. Find the difference in

elevation between these two points.

Watch Video Solution

https://dl.doubtnut.com/l/_RKIgs6pwH9V6
https://dl.doubtnut.com/l/_8XTDm1NesoIt
https://dl.doubtnut.com/l/_mO2SXJXwPB7a


Iit Jee Worksheet

Watch Video Solution

1. 2,493 - 276 =

A. 2769

B. 2627

C. 2227

D. 2217

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mO2SXJXwPB7a
https://dl.doubtnut.com/l/_CwRZq63hmIjq


2. 371 503 - 281 498 =

A. 91005

B. 90905

C. 90095

D. 90005

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CwRZq63hmIjq
https://dl.doubtnut.com/l/_FgLGESmbAkwS


3. Which of the following has the largest value?

A. 32,457 + 42,864

B. 33,247 + 41,684

C. 32,574 + 42,684

D. 33,427 + 41,864

Answer:

Watch Video Solution

4. 209 - 21 - 69 =

https://dl.doubtnut.com/l/_PtQMoINLQItF
https://dl.doubtnut.com/l/_iG4uJT876gYR


A. 119

B. 109

C. 99

D. 89

Answer:

Watch Video Solution

5. Shyam earns Rs. 3,500. If he spent Rs. 1,249 on

buying a handphone, what is the balance his

salary?

https://dl.doubtnut.com/l/_iG4uJT876gYR
https://dl.doubtnut.com/l/_rGvcsnjb2eib


A. Rs. 2,751

B. Rs. 2,251

C. Rs. 2,151

D. Rs. 2,059

Answer:

Watch Video Solution

6. Smriti bought 19 boxes of sweets. Each box

contains 228 sweets. How many sweets would be

left with her after giving 519 sweets to friends?

https://dl.doubtnut.com/l/_rGvcsnjb2eib
https://dl.doubtnut.com/l/_4YyLIzwl04ZJ


A. 766

B. 3813

C. 4332

D. 4851

Answer:

Watch Video Solution

7. 

A. 1267

4, 668 ÷ 4 =

https://dl.doubtnut.com/l/_4YyLIzwl04ZJ
https://dl.doubtnut.com/l/_JPYHilxJ15WA


B. 1167

C. 1087

D. 1012

Answer:

Watch Video Solution

8. 

A. 254 remainder 30

B. 242 remainder 30

8, 158 ÷ 32 =

https://dl.doubtnut.com/l/_JPYHilxJ15WA
https://dl.doubtnut.com/l/_Vmz9tQD38ZiG


C. 204 remainder 15

D. 202 remainder 15

Answer:

Watch Video Solution

9. The company divided 15,484 workers equally

into 98 groups. How many workers were there in

each group?

A. 178

B. 168

https://dl.doubtnut.com/l/_Vmz9tQD38ZiG
https://dl.doubtnut.com/l/_7zEoyLZJClbO


C. 158

D. 148

Answer:

Watch Video Solution

10. Which of the following is true?

A. 

B. 

C. 

130 ÷ 0 = 0

150 ÷ 1 = 50

0 × 130 = 0

https://dl.doubtnut.com/l/_7zEoyLZJClbO
https://dl.doubtnut.com/l/_yq78tVhbQjCk


D. 

Answer:

Watch Video Solution

150 ÷ 1 = 151

11. If , then the value of y

is

A. 20

B. 10

C. -10

D. -20

−30 + ( − y) + 20 = 0

https://dl.doubtnut.com/l/_yq78tVhbQjCk
https://dl.doubtnut.com/l/_vSpo7uvUJDUO


Answer:

Watch Video Solution

12. 

A. -80

B. -32

C. 32

D. 80

Answer:

Watch Video Solution

−40 − 32 + 40 =

https://dl.doubtnut.com/l/_vSpo7uvUJDUO
https://dl.doubtnut.com/l/_VZb9KuvdEBgL


Watch Video Solution

13. 

A. -7

B. -1

C. 1

D. 7

Answer:

Watch Video Solution

0 − ( − 3) − ( − 4) =

https://dl.doubtnut.com/l/_VZb9KuvdEBgL
https://dl.doubtnut.com/l/_zQUhZS6EaWiZ


14. 

A. 16

B. 6

C. 0

D. 

Answer:

Watch Video Solution

−8 − ( − 3) − ( − 5) =

−16

15. −10 − ( − 2) − 3 =

https://dl.doubtnut.com/l/_glXqEO3y527P
https://dl.doubtnut.com/l/_njW2UCbnKu3o


A. -10

B. -11

C. -12

D. -15

Answer:

Watch Video Solution

16. If the temperature of City A is -20  and the

temperature of City B is 10 , the difference in

temperature between the two cities is

∘ C

∘ C

https://dl.doubtnut.com/l/_njW2UCbnKu3o
https://dl.doubtnut.com/l/_HguUpWh0T2cs


A. 

B. 

C. 10 

D. 30 

Answer:

Watch Video Solution

−30  ∘ C

−10  ∘ C

∘ C

∘ C

17. 

A. -48

−40 + ( − 5) + ( − 3) =

https://dl.doubtnut.com/l/_HguUpWh0T2cs
https://dl.doubtnut.com/l/_rhmMHOQfdx4W


B. -32

C. 32

D. 48

Answer:

Watch Video Solution

18. The diagram shows a number line. 

 

The value of x + y is

A. -32

https://dl.doubtnut.com/l/_rhmMHOQfdx4W
https://dl.doubtnut.com/l/_28D6KUtKquv2


B. -8

C. 8

D. 32

Answer:

Watch Video Solution

19. A lady parked her car on the 6th floor and took

a lift up 17 floors to the Finance Department she

then went down 9 floors to the Tax department.

On which floor would you find the lady?

https://dl.doubtnut.com/l/_28D6KUtKquv2
https://dl.doubtnut.com/l/_uxlDwXxJ0HZI


A. 14th

B. 15th

C. 23rd

D. 26th

Answer:

Watch Video Solution

20. A set of whole numbers satisfy ________

property/properties under multiplicative

A. closed

https://dl.doubtnut.com/l/_uxlDwXxJ0HZI
https://dl.doubtnut.com/l/_jK9eMICrt9pt


B. commutative

C. associative

D. none

Answer:

Watch Video Solution

21. Which of the following would give the value

zero?

A. 

B. 

30 ÷ 0

30 × 0

https://dl.doubtnut.com/l/_jK9eMICrt9pt
https://dl.doubtnut.com/l/_9BowlvC4XImb


C. 

D. 

Answer:

Watch Video Solution

0 ÷ 30

0 ÷ 0

22. Which of the following sequence of operations

are true, to simplify the combination of

operations that involve addition (A), Subtraction

(S), Multiplication (M) and Division (D).

A. M - A - S

https://dl.doubtnut.com/l/_9BowlvC4XImb
https://dl.doubtnut.com/l/_tQXZjUmbeJRg


B. M - A - D

C. D - M - A

D. S - A - M

Answer:

Watch Video Solution

23. Integer greater than -151 :

A. -141

B. -120

https://dl.doubtnut.com/l/_tQXZjUmbeJRg
https://dl.doubtnut.com/l/_ebcUA0hdC05J


C. -251

D. -111

Answer:

Watch Video Solution

24.  is equal to:

A. 

B. 

C. 

−4 × − 3 × 5

−4 × ( − 3 × 5)

−4 × ( − 3 + 5)

( − 4 × 3) × ( − 4 × 5)

https://dl.doubtnut.com/l/_ebcUA0hdC05J
https://dl.doubtnut.com/l/_Luk1fJe2uVlP


D. 

Answer:

Watch Video Solution

( − 4 × − 3) × 5

25. 

is:

A. 32

B. 

C. (-32)

D. 

( − 2) × ( − 2) × ( − 2) × ( − 2) × ( − 2)

( − 2)5

(2)5

https://dl.doubtnut.com/l/_Luk1fJe2uVlP
https://dl.doubtnut.com/l/_Oc7DB2LGv60s


Answer:

Watch Video Solution

26. Compare: (-15) and (-16)

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

( − 15) = ( − 16)

( − 15) > ( − 16)

( − 16) < ( − 15)

https://dl.doubtnut.com/l/_Oc7DB2LGv60s
https://dl.doubtnut.com/l/_WgO4825CcgV6


Watch Video Solution

27. . The value of

a is _______.

Watch Video Solution

244 + (8 × 4) − 318 ÷ a = 223

28. . The

value of a is __________.

Watch Video Solution

100 − 7 × 1 + 5 = 100 − (7 × 1) + a

https://dl.doubtnut.com/l/_WgO4825CcgV6
https://dl.doubtnut.com/l/_CJ7MfqoGG95r
https://dl.doubtnut.com/l/_V6lJ5quWwVhx


29. Which digit in the number 568 831 has a place

value of thousands?

Watch Video Solution

30. In the number 14,512 represents, the number

in thousands place is ________.

Watch Video Solution

31. Fill in the misssing integer: 

Watch Video Solution

6 + □ = 0

https://dl.doubtnut.com/l/_gpXcfxcE6SGz
https://dl.doubtnut.com/l/_5d2zfuqnWHgM
https://dl.doubtnut.com/l/_XLXwKyfhgNc7


32. ________

Watch Video Solution

6 − ( − 3) =

https://dl.doubtnut.com/l/_XLXwKyfhgNc7
https://dl.doubtnut.com/l/_EQXYVu0cVCrJ

